J.BURROWS

ASSEMBLY INSTRUCTIONS
MATRIX MANUAL HEIGHT ADJ DESK

JBMATHADK

3 cartons 1of7



Tools Required

D

\_ Y,
Assemble Item On a Clean Flat Surface

£H.

CAUTION
o /

Need Two Or More People To Complete

MORE THAN
1PERSON
IS REQUIRED

TO SAFELY
ASSEMBLE THE ITEM

CAUTION

- Please check you have all hardware before assembling

- If you think you are missing any hardware please contact the store of purchase
- Please ensure you have the name of the item and hardware part required and quantity.
- Please retain your receipt for proof of purchase to validate warranty. Enjoy your new purchase

Officeworks Superstores Py Lid. | 236-262 East Boundary Road |

EastBentleigh 1 3165 | AUSTRALIA |

20of 7



v

L {

N~

e

AxL(M6x12)

Bx8(M6x12)

CxI(&mm)

Dx2

Ex1

Spare Part

3 of7



Step 1

AxL(M6x12)

Dx?2

4 of 7



Step 2

of 7



Step 3

Bx8(M6x12)

6 of 7



Step 4

Note:

I. Insert handle on either left or right §
lI. Do not install the handle close to a wall

Ex1

7 of 7



